
Charger 2011 LT6600 Mount
Mtg Strap
(#806-0916A)

LT6600 MOUNT
(NOT INCLUDED)

Charger 2011 LT6600 Mount
MOUNTING BASE
(#806-0917A)

2 OF 401-0023
GO HERE

Package should be included following list:

1  401-0043 CARRIAGE BOLT 1/4-20 X 3/4", ZINC (5X) 
2  403-0013 FLAT WASHER,1/4-20, ZINC (5X)
3  422-0009 NYLOC NUT,1/4-20, ZINC (5X)
4  401-0023 BOLT,1/4-20x3/4", HEX ZINC (2X)

SIZE DWG.  NO.

A
REV.

MATERIAL

FINISH

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/32
ANGULAR: .10
TWO PLACE DECIMAL    .010
THREE PLACE DECIMAL  .005

NAME DATE

DRAWN

CHECKED

ENG APPR.

MFG APPR.

Q.A.

SHEET 1 OF 1USED ON:

COMMENTS:

DESCRIPTIONREV. DATE APPROVED

LT6600 Mount Base 
For Charger 2011

for Motorised Seat
Date: Monday, July 11, 2011 1:56:08 PM
File: 906-0190B
Path: M:\MECH_DATA\906 Laptop Mount\LT6600 Dodge Charger 2011\

906-0190BMidnight Black Wrinkle

MQ

0


	Sheet1
	Drawing View5


